%538 FEHHEE N ELI0THETH

XBUENTLE STV D THETANINEN 2> HERANT 5, 2 Y TR 3D 205

1T BEREEERY

(HNT : $REE, %)
B | mRETH | EMEREER [ Bt
- |ARINE 11,490( 100.0
1 |tk 1,937 16.9
2 |/pEIET 997 8.7
3 |FEH 845 1.4
4 |EXRtHh 691 6.0
5 |=iEm 672 5.8
6 |#&R™ 607 5.3
1 (gt 593 5.2
8 |FBET 948 4.8
9 |EHW 534 4.6
10 [E#ERT 500 4.4

3 MEREHARH

(HGL - $RER, %)

IBGL | HXETH | MERER | Bt
- |ERINE 139 100.0
1 [FRE#T 23| 16.5
2 |fERRET 200 14.4
3 |BARm 13 9.4
4 (lLAcHT 13 9.4
5 |HET 12 8.6
6 [XFm 10 1.2
7 |/hERET 9 6.5
8 [FEIIAE 7 5.0
9 |FEIRET 5 3.6
10 [JIgH 4 2.9

2 REREMARHY

EAZAS LML E TRWEAE L H 5,

(BAfI : RER. %)
Btz | HRXRETH | EXEEER | ERt
N P EIIT] 11, 402[ 100.0
1 |#Emh 1,931 16.9
2 |/NEEH 091| 8.7
3 |FiFw 845| 7.4
4 |EAXTH 682 6.0
5 |=@ 672| 5.9
6 |BER™ 604 5.3
7 [N 500| 5.2
8 |FBEH 543 4.8
0 (=B 525| 4.6
10 |[HRiEEH 488 4.3

4 REMMEE

(BAfiL : a. %)

5 BHREOEMEBELLMIOTEH (REEERK)
AR R AR TR ERY R DI 8, (RO BRI S & Rt o A i,

oY (BfT - a. %)

NEsz | i X ETAS E 8 AL
- |ARRIR 116,218 100.0
1 |=FmH 65,780 56.6
2 |[MEZRE™ 24,8721 21.4
3 |HEEM™ 12,603 10.8
4 |#&IRT™ 2,899 2.5
5 |BERAT™ 1,290 1.1
6 [JIETH 937 0.8
1 |fERIRT 907 0.8
8 |&EHH 849 0.7
9 [(FEBETH 183 0.7
10 |#&#Eh 154 0.6

6| HXETH | =M mEE | Bt
- |#HERIE 978,218| 100.0
1 |#&Ed 152,739 15.6
2 |=@ETh 90, 756 9.3
3 |FEIEH 87,978 9.0
4 AR 87,119 8.9
5 [FEET 57,176 5.8
6 |#&iR™ 56, 643 5.8
7 |BEXH 53,013 5.4
8 |=BHH 42,745 4.4
9 |[MERIRET 37, 636 3.8
10 |#ZBE ™ 35, 659 3.6
WA (BHI: a. %)
Bz | hIXETAT mis R
- |HEINE 79,284] 100.0
1 |=@h 57,628 72.7
2 |#ET 6, 344 8.0
3 |[#EEW 3,034 3.8
4 |FEEET 1,839 2.3
5 &t 1,474 1.9
6 |[B&iR™ 1, 303 1.6
1 |EHH 1,063 1.3
8 |[F~iEmH 1, 051 1.3
9 [EXmM 654 0.8
10 |chFHET 647 0.8
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FS5SNAZES (B a, %)
Bz | h X ETHT mis R
- |#HRIE 20,631 100.0
1 |[#&E™H 8,657 42.0
2 |Frigh 2,310  11.2
3 |#R™ 1,994 9.7
4 |FEiFETH 1,099 5.3
5 |HRIET 937 4.5
6 |EHH 870 4.2
7 & 800 3.9
8 |[FB[RE™ 697 3.4
9 |iBELT 514 2.5
10 |/hNAR™ 431 2.1
ERAY) (B a, %)
Bz | h XETAT mis R
- |HEINE 17,936| 100.0
1 |=@h 15,858| 88.4
2 |#EET 881 4.9
3 |[#EW™ 329 1.8
4 |FEEET 134 0.7
5 |[#&iR™ 106 0.6
6 [EARmM 80 0.4
1 |EHH 16 0.4
8 |Gt 66 0.4
9 |#&EEH 50 0.3
10 [¥~ gt 38 0.2
&L (B a, %)
Bz | h RETAY i &R
- |HERIE 13,660 100.0
1 |[#&ESd 3,590 26.3
2 |FiEH 2,213 16. 2
3 |HEEET 1,040 7.6
4 |#iR™ 853 6.2
5 [N 802 5.9
6 |EHM 700 5.1
1 |BEXmH 636 4.7
8 |RBE™ 547 4.0
9 |H#EZEET 312 2.3
10 [F~EmH 302 2.2

Joyal)— (B a, %)
B4 | i XEBTHY s R
- |#HRINE 19,342 100.0
1 |#&ESh 5,614 29.0
2 |t 1,497 7.7
3 |[HHER™ 1,430 1.4
4 |[#ER™ 1,388 1.2
5 |FiEH 1,363 7.0
6 (HEEE™ 1,271 6.6
1 |f&#E™ 951 4.9
8 |=i#Emh 792 4.1
9 |EHH 674 3.5
10 [RSARESH 591 3.1
hE (B :a, %)
Bz | XETH s R
- |HRINE 14,569 100.0
1 |#E™ 4,486 30.8
2 |FiE ™ 1,586 10.9
3 [N 970 6.7
4 |E=HH 944 6.5
5 [HHER™ 746 5.1
6 |[B&iR™ 740 5.1
7 |/hHEIET™ 650 4.5
8 |=i#Emh 580 4.0
9 |(FxigTH 566 3.9
10 [FB8E™H 565 3.9
fcERE (B a. %)
JEGL | T XETHE miE R
- |HERIE 13,483 100.0
1 [/hMAET 3,890 28.9
2 |HEET™ 2,556 19.0
3 [Nt 953 7.1
4 |FixH 623 4.6
5 |RFBES 581 4.3
6 |=i#Emh 575 4.3
1 (fEERE™ 542 4.0
8 |E=HH 495 3.7
9 |HFHET 474 3.5
10 |BEAR™™H 437 3.2
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<k (Bfr : a. %)

IEfr | i XHETAS E 18 HBRLLE
- |ARINE 12,921] 100.0
1 |[t&ET 3,895 30.1
2 |#&RT™ 2,309 17.9
3 [JlgT 1,045 8.1
4 |BER™ 874 6.8
5 |FEH 563 4.4
6 |HEEE™ 517 4.0
1 |F4&iamh 480 3.7
8 |fARRIRT 419 3.2
9 |EXMh 386 3.0
10 |&%Fh 364 2.8

6 ZREHEOHEEBELLIOTETHN (BEZERK)

AR R THES ERTDN RSO EMINRI S PER, Bk i | 3 8 RS & i i fos 0 & i it

M A A (B a, %)
Bz | h RETAY miE &R
- [#HENER 67,104 100.0
1 |"hNEEST 21, 366 31.8
2 |imARET 8,310 12. 4
3 |mRW™ 6, 662 9.9
4 |thHHET 5,729 8.5
5 | KELHET 3,946 5.9
6 |FPES 3,470 5.2
1 |H#EET 2,532 3.8
8 [|WidtHET 2,446 3.6
9 &t 1,979 2.9
10 [EFHmH 1,782 2.1
pX.)) (Bifi:a, %)
Bz | h XETAY miE TR L
- |HEINE 10,8711 100.0
1 [/MAET 5,092 46. 8
2 |#EW 1,212 11.1
3 |mRHT 943 8.7
4 (& 539 5.0
5 |MBEES 453 4.2
6 (&R 375 3.4
1 |HPFHET 321 3.0
8 [|WAtHET 318 2.9
9 [(FEBE™ 257 2.4
10 [E¥Hm 237 2.2

oY (B - a, %)
JBAHL [ i X ETAF miE R
- |HEIE 10,4701 100.0
1 |#ESh 2,539 24.2
2 |FiEH 1,281 12.3
3 |#iR™ 1,260 12.0
4 |)1iEth 173 1.4
5 |tEEERET 487 4.7
6 |ZEHH 426 4.1
1 | KEEHET 397 3.8
8 |BEA™ 380 3.6
9 |FBES 360 3.4
10 [#E#EmH 352 3.4
HARZL (BfE - a, %)
JEAL [ T X ETAS mEiE R
- [HENER 13,7701 100.0
1 |#ESh 4, 343 31.5
2 |JnEH 2,559 18.6
3 |[ER™ 1,788 13.0
4 |FREET 1,317 9.6
5 /AR 769 5.6
6 [EXRm 713 5.2
1 |FEJIET 542 3.9
8 |#EHE™ 504 3.7
9 [XF0m 283 2.1
10 [EFHmH 2217 1.6
nE (BfL - a, %)
JEHL [ T XETHF i ¥R
- |HEIE 10,433 100.0
1 |#&E™ 2,247 21.5
2 |JI&TH 1,532 14.7
3 [FBET 1,276 12.2
4 |E&R™ 715 6.9
5 /AR 532 5.1
6 |#&#E™ 502 4.8
1 |EXmH 397 3.8
8 |&=BHH 392 3.8
9 |mRWmh 380 3.6
10 |F g 368 3.5
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<Y (B - a, %)
Bz | h X ETHT mis R
- |HEIE 8,955 100.0
1 |#ES 2,033 22.7
2 |mRH#T 850 9.5
3 |EHH 799 8.9
4 k& 625 7.0
5 |HRIET 550 6.1
6 |KFHET 476 5.3
1 |HFHHET 448 5.0
8 |[F~iEH 418 4.7
9 (&R 378 4.2
10 [EXRH 347 3.9
o4 2)L—Y (B a, %)
Bz | h XETAT mis R
- [HENE 6,799 100.0
1 |"hNEES 3,732 54.9
2 [FRW#™ 789 11.6
3 |IudeET 501 7.4
4 |#EE™ 415 6.1
5 |E¥HmH 251 3.7
6 |FPFHET 220 3.2
1 |z RET 182 2.1
8 |[#&iR™ 110 1.6
9 |fnHHET 108 1.6
10 [JI&TH 101 1.5
ERRRS (B a, %)
Bz | h RETAY i ¥R
- |HEINE 4011 100.0
1 [/hMAET 218 54.3
2 | RHm 33 8.2
3 [Nt 24 6.0
4 |#EE™ 18 4.5
5 |[FEBEST 14 3.5

ZDMhAZED (B a, %)
JBAHL [ i X ETAF miE R
- |HEIE 8,866/ 100.0
1 |"hNEES 4,730 53.3
2 | RHET 1,310 14. 8
3 &t 519 5.9
4 R 381 4.3
5 |FEET 34 3.8
6 |E#SHET 283 3.2
1 |fEEM 250 2.8
8 |EZHM 208 2.3
9 (A FHHET 184 2.1
10 |WU4EET 141 1.6
SRES (B : a, %)
JEAL [ T X ETAS w1 ¥R
- |HEINE 4,812 100.0
1 |#&EH 1, 344 27.9
2 |B&R™ 7391 15.4
3 |[FBET 679 14.1
4 |\ RHT 434 9.0
5 |tEEET 271 5.6
6 |#E#E™ 250 5.2
7 & 221 4.6
8 [EXmM 198 4.1
9 |[FEiFE™ 164 3.4
10 [/hEE™ 144 3.0
YAZ (B4 :a, %)
JEAL [ T X ETAS miE ¥R
- |HERIE 244 100.0
1 |EXRH 35 14.3
2 |#EET 29  11.9
3 [JnET 16 6.6
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7 REBEOFFBEPHECI0HETH (REEERXK)

LS (B : 3B, %)
JEAL [ T X ETAS R EEE A R
- [HENE 5,317 100.0
1 [FBE! 1,229 23.1
2 |FEEFE™H 701 13.2
3 |MEEET 636 12.0
4 |E=HH 609 11.5
5 |#&EETh 578/ 10.9
6 |[B&iR™ 339 6.4
1 |EXmH 241 4.5
8 |FhFHHET 168 3.2
9 |(FxiEdTH 166 3.1
10 [Z)IET 145 2.7
iZ3 (B : BB, %)
JEAL [ T X ETHF O FEE ¥R
- |HEIE 52,848 100.0
1 |BER™ 15, 846 30.0
2 |[#EW 8, 266 15.6
3 |FiEH 3,600 6.8
4 |#EHEH 3,520 6.7

RAE4 (B 3B, %)
Bz | m XETH fAEEN | B
- |HERINE 4,992| 100.0
1 |BEiR™ 2,002] 41.9
2 |#&ET™ 554  11.1
3 |*FEEFE™H 131 2.6
4 (KELHET 84 1.7
5 |EXmM 43 0.9
6 [/NEIRT 12 0.2
RN (6 P, %)
JEGL | X ETHE &P R
- |EENE 1,707,756 100.0
1 |Z)IET 718,712 42.1
2 |#&#E™ 544,000 31.9
3 |[fBEE™ 153, 020 9.0
4 | 132, 400 7.8
5 [FBE™ 93, 020 5.4
6 [HEEET 22,045 1.3
7 |#EW™ 15,299 0.9
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